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QUESTION 1

Your database is running in ARCHIVELOG mode and flashback is enabled. 

In which scenario must you use RMAN backups for recovering tables and table partitions? 

A. when recovering a table to a point in time 

B. when recovering a table that has been logically corrupted 

C. when recovering dropped tables that are present in the recyclebin 

D. when recovering the data of a table to the desired point in time, which is more recent than the oldest available undo 

E. when recovering data that was lost after a DDL operation modified the structure of a table 

Correct Answer: A 

 

QUESTION 2

You want the execution of large database operations to suspend, and then resume, in the event of space allocation
failures. 

You set the value of the initialization parameter resumable_timeout to 3600. 

Which two statements are true? (Choose two.) 

A. A resumable statement can be suspended and resumed only once during execution. 

B. Data Manipulation Language (DML) operations are resumable, provided that they are not embedded in a PL/SQL
block. 

C. A suspended statement will report an error if no corrective action has taken place during a timeout period. 

D. Before a statement executes in resumable mode, the alter session enable resumable statement must be issued in its
session. 

E. Suspending a statement automatically results in suspending a transaction and releasing all the resources held by the
transaction. 

Correct Answer: CD 

 

QUESTION 3

Which three statements are true about the keystore storage framework for transparent data encryption? (Choose
three.) 

A. It facilitates and helps to enforce keystore backup requirements. 

B. It handles encrypted data without modifying applications. 
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C. It enables a keystore to be stored only in a file on a file system. 

D. It enables separation of duties between the database administrator and the security administrator. 

E. It transparently decrypts data for the database users and applications that access this data. 

F. It helps to track encryption keys and implement requirements such as keystore password rotation and master
encryption key reset or re-key operations. 

Correct Answer: ADF 

Reference: 

http://oradb-srv.wlv.ac.uk/E16655_01/network.121/e17729/asotrans.htm#CHDEABCA (benefits of the 

keystore storage framework) 

 

QUESTION 4

Which three types of backups can be performed for a database running in NOARCHIVELOG mode? (Choose three.) 

A. consistent whole database backup 

B. backup of noncritical tablespaces without shutting down the instance 

C. backup of the database without shutting down the instance 

D. backup of only those blocks that have changed since the last backup while database is mounted 

E. backup of only the used blocks in a critical tablespace (SYSTEM or SYSAUX) while the database is open 

Correct Answer: ACD 

Reference https://docs.oracle.com/cd/B28359_01/server.111/b28310/archredo002.htm#ADMIN11330 

 

QUESTION 5

The following parameters are set for your Oracle 12c database instance: 

OPTIMIZER_CAPTURE_SQL_PLAN_BASELINES=FALSE OPTIMIZER_USE_SQL_PLAN_BASELINES=TRUE 

You want to manage the SQL plan evolution task manually. Examine the following steps: 

1. Set the evolve task parameters. 

2. Create the evolve task by using the DBMS_SPM.CREATE_EVOVLE_TASK function. 

3. Implement the recommendations in the task by using the DBMS_SPM.IMPLEMENT_EVOLVE_TASK function. 

4. Execute the evolve task by using the DBMS_SPM.EXECUTE_EVOLVE_TASK function. 

5. Report the task outcome by using the DBMS_SPM.REPORT_EVOLVE_TASK function. 
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Identify the correct sequence of steps. 

A. 2, 4, 5 

B. 2, 1, 4, 3, 5 

C. 1, 2, 3, 4, 5 

D. 1, 2, 4, 5 

Correct Answer: B 

 

QUESTION 6

Which three methods can be used to create a pluggable database (PDB) in an existing multitenant container database
(CDB)? (Choose three.) 

A. Use PDB$SEED for creating a PDB. 

B. Use the DBMS_PDB package to plug a non-CDB into an existing CDB. 

C. Clone an existing PDB. 

D. Use Enterprise Manager Database Express to create a PDB in an existing CDB. 

E. Use the DBMS_PDB package to plug a pre-Oracle 12c database into an existing CDB. 

Correct Answer: BCD 

 

QUESTION 7

Which three statements are true about the database instance startup after an instance failure? (Choose three.) 

A. The RECO process recovers the uncommitted transactions at the next instance startup. 

B. Online redo log files and archived redo log files are required to complete the rollback stage of instance recovery. 

C. Uncommitted changes are rolled back to ensure transactional consistency. 

D. The SMON process coordinates the database recovery. 

E. Media recovery is required to complete the database recovery. 

F. Changes committed before the failure, which were not written to the data files, are re-applied. 

Correct Answer: ACD 

A: Occasionally a database closes abnormally with one or more distributed transactions in doubt (neither committed nor
rolled back). When you reopen the database and recovery is complete, the RECO background process automatically,
immediately, and consistently resolves any in-doubt distributed transactions. 

C: Crash and instance recovery involve two distinct operations: rolling forward the current, online datafiles by applying
both committed and uncommitted transactions contained in online redo records, and then rolling back changes made in
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uncommitted transactions to their original state. 

D: The SMON background process performs instance recovery, applying online redo automatically. No user intervention
is required. 

References: https://docs.oracle.com/cd/B28359_01/server.111/b28318/startup.htm
https://docs.oracle.com/database/121/CNCPT/startup.htm 

 

QUESTION 8

Your database is on ARCHIVELOG mode and an incremental backup exists. A media failure in the loss of a data file
and an online redo log. 

Examine these commands: 

1.

 STARTUP NOMOUNT 

2.

 STARTUP MOUNT 

3.

 RESTORE DATABASE 

4.

 RECOVER DATABASE 

5.

 RECOVER DATABASE UNTIL CANCEL 

6.

 ALTER DATABASE OPEN 

7.

 ALTER DATABASE OPEN RESETLOGS 

Which commands are required to recover your database? 

A. 2, 3, 5, and 6 

B. 2, 3, and 4 

C. 2, 3, 5, and 7 

D. 1, 3, 5, and 6 

E. 1, 3, and 4 
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Correct Answer: E 

Reference: https://docs.oracle.com/cd/E25178_01/backup.1111/e10642/rcmadvre.htm 

 

QUESTION 9

Which two statements are true regarding SecureFile lobs? (Choose two.) 

A. The amount of undo retained is user controlled. 

B. They can be used only for nonpartitioned tables. 

C. Fragmentation is minimized by using variable-sized chunks. 

D. They support random reads and writes of encrypted LOB data. 

Correct Answer: CD 

Reference: http://docs.oracle.com/cd/E11882_01/appdev.112/e18294/adlob_smart.htm#ADLOB46113 

 

QUESTION 10

Your database is in ARCHIVELOG mode and is open. 

You issue this command successfully: 

Which two are true? (Choose two.) 

A. Online logs are backed up. 

B. The backup becomes obsolete after one day. 

C. The restore point is automatically deleted after one day. 

D. The restore point TESTDB06 is created. 

E. The existing restore point TESTDB06 is updated. 

F. Archived redo logs are backed up. 

Correct Answer: BE 

Reference: https://docs.oracle.com/database/121/BRADV/rcmbckba.htm#BRADV835 
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QUESTION 11

Which two are benefits of unified auditing in full mode? (Choose two.) 

A. The audit trail is in a single format. 

B. All audit data is written to both the traditional locations and to the unified location. 

C. The audit trail is read-only. 

D. Pre 12c audit data is written to the traditional locations and new 12c audit data is written to the unified location. 

E. The audit trail uses less space. 

Correct Answer: AC 

 

QUESTION 12

For which two requirements would you use the Database Resource Manager? (Choose two.) 

A. limiting the CPU used per database call 

B. specifying the maximum number of concurrent sessions allowed for a user 

C. specifying the amount of private space a session can allocate in the shared pool of the SGA 

D. limiting the degree of parallelism of operations performed by a user or group of users 

E. specifying an idle time limit that applies to sessions that are idle and blocking other sessions 

Correct Answer: DE 

 

QUESTION 13

The HR user updates the salary of one of the employees in the EMPLOYEES table, but does not commit the
transaction. 

Which type of lock would this scenario lead to? 

A. Exclusive table-level lock on the EMPLOYEES table 

B. Row-exclusive lock on the row being updated 

C. Null lock on the EMPLOYEES table 

D. Null lock on the row being updated 

Correct Answer: B 

 

QUESTION 14
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Identify two scenarios in which the RMAN crosscheck command can be used. (Choose two.) 

A. when checking for backups that are not required as per the retention policy 

B. when updating the RMAN repository if any of the archived redo log files have been deleted without using RMAN to do
the deletes 

C. when updating outdated information about backups that disappeared from disk or media or became corrupted and
inaccessible 

D. when synchronizing backups, which were not performed by using RMAN, with the RMAN repository 

E. when listing backups that are required for recovery operations 

Correct Answer: BE 

 

QUESTION 15

Automatic Shared Memory Management (ASMm) is enabled for your database instance, but parameters for the
managed components are not defined. 

You execute this command: 

SQL> ALTER SYSTEM SET DB_CACHE_SIZE = 100M; 

Which statement is true? 

A. The minimum size for the standard buffer cache is 100 MB. 

B. The maximum size for the standard buffer cache is 100 MB. 

C. The minimum space guaranteed in the buffer cache for any server process is 100 MB. 

D. The maximum space in the buffer cache that can be released for dynamic distribution is 100 MB. 

E. The minimum size for all buffer caches is 100 MB. 

Correct Answer: A 
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